
MATERIAL LIST

DRWG NO. REV. GID

ASSY NO.

TITLE

APPROVALS: DATE REV DCN NO BY CHK DCC DATE

DRAWN:

CHECKED:

APPROVED:

DCC RELEASE:

REF. QTY. PART No. DESCRIPTION

LIGO Form ML-01 (10/96)

CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTS INSTITUTE OF TECHNOLOGY

SHEET 1    OF 1

1 1 D990149 Mounting Bracket Angle

2 1 D990150 Gusset

3 1 D990151 Backplate 1

4 1 D990152 Backplate 2

5 8 WFV-38 3/8 nom X .045 thk  Vented Flat Washer (U-C Components)

6 4 92186A999 3/8-16 X 7.00  Hex Head Screw - 316 stainless steel,  (McMaster-Carr)

7 4 92186A626 3/8-16 X 1.25  Hex Head Screw - 316 stainless steel,  (McMaster-Carr)

8 6 WFV-10 #10 nom X .031 thk  Vented Flat Washer (U-C Components)

9 6 93615A360 #10-24 X 1.00  Low Head Socket Cap Screw - 18-8 stainless steel
(McMaster-Carr)

C. Conley

Cavity Beam Dump Mounting Bracket Assembly

3-29-99
5-5-99

A
B

E990133
E990200

C.C.
C.C.

D990153-B

  D990143


